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Part A. Multiple Choice (40%) ]
Instruction: Please fill in your answers in a table format as follows. %%ﬁé%%%%{’ﬁ%’i
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| (1) Which of the following is a negative externality connected to automobile transportation?

A) Driving faster than the 70 mph speed limit is not allowed, even though individuals are able to do it, and
many want to.

B) In an accident, a person who chooses not to wear a seatbelt becomes an object moving around the inside of
the car, possibly hitting other, belted-in, passengers with lethal force.

C) Gasoline is taxed on a per-gallon basis.

D) Gasoline is imported, and thus increases the trade deficit.

E) While stuck in traffic, you have a chance to listen to your favorite CD, which you haven't had the time to
do in other places.

(2) The marginal benefit and marginal private cost curves for a harmful product, toxic chemicals, are given as
follows:
* Marginal Benefit (MB): MB=400—Q
- Marginal Private Cost (MPC): MPC=Q
In addition to private costs, there is a marginal external cost of $10 per unit of output. What is the efficient
level of output? '
A)O0
B) 120
C) 180
D) 200
E) none of the above

(3) If an individual's labor supply curve is backward bending, then:

A) the income effect associated with a higher wage is greater than the substitution effect.
B) the substitution effect associated with a higher wage is greater than the income effect.
C) the substitution effect associated with a higher wage encourages more leisure.
D)Aand C

E)Band C

(4) A tech company, OpenAl, purchases computational power in a highly competitive cloud computing
market to train its generative Al models. At the current purchase rate, the marginal revenue product (MRP) of
computational power exceeds the marginal expenditure (ME) on it. Thus, the company:

A) can increase profit by reducing the purchase of computational power.

B) is now maximizing profit.

C) should stop using computational power because it has no potential in generating a profit.
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D) can increase profit by expanding the purchase of computational power.
E) none of the above.

(5) Scenarto:

You are negotiating with a renewable energy firm over the price of carbon credits to offset your company’s
emissions. You value the carbon credits at $1,000 per ton, while the firm's cost of generating the credits is

| $400 per ton. After negotiations, you settle on a price of $600 per ton.

Your negotiations are an example of:

A) anoncooperative game.

B) a cooperative game.

C) a constant sum game.

D) a competitive game.

E) both B and C

(6) Refer to the Scenario in (5). At your negotiated price, your consumer surplus is:
A) $0.

B) $200.

C) $400.

D) $600.

E) $1,000.

(7) Refer to the Scenario in (5). At your negotidted price, the producer surplus is:
A) $0.

B) $200.

C) $400.

D) $600.

E) $1,000.

(8) If your negotiated price had been $800 per ton instead of $600 per ton, the sum of consumer surplus and
producer surplus would be:

A) less than what would have accrued at the $600 price.

B) the same as what would have accrued at the $600 price.

C) more than what would have accrued at the $600 price.

D) None of the above is necessarily correct.

(9) What condition may provide for a relatively small degree of inefficiency under monopolistic competition?
A) There is a single seller and no product differentiation.

B) The marginal cost of production is less than the market price.

C) The demand curve is relatively elastic so that the price is near the long-run minimum average cost.

D) There is only one buyer in the market.
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(10) In many rural areas, electric generation and distribution utilities were initially set up as cooperatives in
which the electricity customers were member-owners. Like most cooperatives, the objective of these firms
was to:

A) maximize profits for the member-owners.

|| B) maximize total revenue that could be redistributed to the member-owners.

C) operate at zero profit in order to provide low electricity prices for the member-owners.

D) minimize the costs of production.

Part B. SH[EIE THIE MR - JSOEFATSCEE - BT I8E AT USRS o » SRS
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1. (30%) Comment on the following statement:
(1) “A poor country can escape the poverty trap, if it either devotes a larger share of GDP to

investment or implements a population control program.”

(2) “The U.S. trade imbalance can only be improved by imposing tariffs on foreign imports.” Comment

on this statement, noting who would benefit and who would lose under tariffs.

2. (30%) FEBITFHI 2022 I GREHHI IR SRR » DIREEY  EhSA SAR
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